Men, women & boys

Concept Lecture - 7




A man is twice efficient as a woman. If 16
men can complete a work in 30 days, in
how many days 12 women can complete
the same work?




Man is twice as efficient as a woman and a
woman is twice as efficient as a child. Ifl(_)_
men and 10 women together can complete

a work in 12 hours, in how many hours 10
men, 15 women and 10 boys together can
complete the same task?
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Man is 50% more efficient as a woman and a
woman is twice as efficient as a child. If 20
men, 10 women and 15 children together can
complete a task in 12 hours, whereas ‘M’
men, ‘W’ women and ‘C’ children together can
complete the same task in |10 hours.’lf M :
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If 3 men or @/w{n/eg can do a piece of work
in 16 days, in how many days can 12 men
and 8 womer ‘i do the same piece of work?
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Either 8 men or 17 women can paint a house
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If 10’ men or women or %’childre coan
do a piece of work in 7 months, then 5 men,
5 women and 5 children together can do

half of the work in:
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5 men can do a piece of work in 6 days
while 10 women ca%do it in 5 days. In how
many days can 5 wormhen and 3 men do it?
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10 men can do a work in 10 days. 10 men
started the work and worked for 4 days. Then
15 women take up the work and completed
the remaining work in 8 days. If each woman is
equally efficient and each man is equally
efficient, by what percentage, the efficiency of
a man is more than that of a woman?
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If 10 men or 20 boys can make 260 mats in
20 days, then. how many mats will be made by
8 men and 4 boys in 20 days?
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lm ~ Z.b If 3 menor6 boxs can do a piece of work in

NN > .
10 days, working 7 hours daily. How many
days will it take to complete a piece of work

half the earlier with 6 men and

working together for 5 hours a day? |m
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lm =2 D 12 men and_]ﬁ_b_mﬁ working 7 hours a day,

can do a plecem work in 60 days If a man
works equal to 2 boys, then how many boys
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A man, a women and a boy can complete a
job in 3,4 and 12 days respectively. How

to complete the job in 1/4 of a day?
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[Z men and 7 boys)can do a piece of work in
C._14 days whereas 3 men and 8 boys can do the
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will do three times the amount of work in




If(6 men and 8 boy9caa£ do a piece of work in
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4 men and 5 women can complete a work in 15
d ‘§’, whereas 9 men and 6 women can do it in
10 days. To complete the same work in 7 days,
how many women should assist 4 men?
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10 men and 8 women can do a work in 12 days.
In how many dayg 15 men and 12 women can do
the same work? (Assume that each man is equally
efficient and each woman is equally efficient)
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The time taken by 4 men to complete a job is
double the time taken by 5 children to complete
the same job. Each man is twice as fast as a
woman. How long will 12 men, 10 children and
8 women take to complete a job, given that a

child would finish the job in 20 days.
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women can complete the same work in 15 days. Two
men and six women started workmg together. After
2mMm :.3 InJ 5days, three wg.'mnen left the wor a neiéman joined
the work. The group continued worklng together till
the end of the work. In how many days will they be
[ O O able to do the remaining work?
urer Y fRHl FF @ 20 R H qU W wEHd
Emx5= -B0 ) & wfaw 3w FE A 15 R F W
N O awfr gl & Y IR o7 ARe Aaww F

SW) 5

szww w can complete a work in \Zfov@xs) Ten
)

a) 18 44{14 c) 19 d) 16§

SSC CGL 2020 Tier 1 9




507 oo
220 25
TR

If 10 men work for 10 days, 40% of the work
will be completed. Instead if 15 women work
for 15 days, 50% of the work will be
completed. In how many days 5 men ﬁg‘r{ and 5
women together can compare that work?
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12 men and together can
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15 men and 12 women can complete 60% of
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10 men can do a work in 10 days. 10 men
started the work but after 3 days 5 men were
replaced by 5 women. They took a total of 12
days to complete the work, if man is k% more
efficient to a woman, find k?
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